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Q.1 10 men can finish the construction of a wall in 8 days. How many men are to be
added to finish the work in half a day ?

10 EdY v Eaw 8 famt # =9 €1 ot Rw ® 5w dAER #r e & e Chosen Option : 4
oA ST st oS =T BN ? Marks :1.00

Question ID : 42483788
Status : Answered

Ans X 1.160
X 2,100
X 3.120
o 4. 150

Q.2 select the correct combination of mathematical signs from the options given to .

replace # signs and get a balanced equation :- Question ID : 42483765
Status : Answered
24#BH#A4#10# 2
Chosen Option : 4

far av famedt # & aforda Regl &1 wE waew Toaw # Ry ot o Marks : 1.00

3R o= "gfoa iR W FX
24 #B8H#A#10#2
Ans X4 4=+-
K2 ax=+
XS. -+4=
o 4 =x+

Q.3 In a certain code if AKBAR is written as CMDCT, how will JODHA be
written ?
afy fefr fafirer =12 & AKBAR Y CMDCT & v & frar #ram £, aY JODHA

Question ID :42483764
Status : Answered

Chosen Option : 2
F F forgr Fmeem? Marks :1.00

Ans 5 1. WBQUN

W 2. LQFIC
75 3. HMBFX
X 4. LMGIX
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Q.4 First woman lawyer to be directly appointed as a Supreme Court Judge
is :-

Question ID : 42483727

Status : Answered

wiH Afger ade, B @S sean Faaey & sty g e Chosen Option : 1
Marks :-0.33
aa § -

Ans Indira Jai Singh

" g o
Vrinda Grover
2. ?FT =
Indu Malhotra
v Fog Aegrm
Kamini Jayswal

4.
FIAAT FTTHSTH

Q.5 which two signs should be interchanged to make the following equation correct ? .
Question ID : 42483756
56+7+ 5x 3-2=21

Status : Answered
FiT ¥ 2 el 1 ve TEew W SrafafEe wdeTor w9 wanfta g

5647+ 5x3-2=21

Chosen Option : 2

Marks :1.00
Ans +and -
1.
+ 3T -
+and +
¥ &3
+ 3T+
x and +
< 3
x #HT +
X x and —
4.
x #T -
Q.6 i i ?
How many centimetres make one inch 7 Question ID : 42483730
TS S A e FEH R § ? Status : Answered
Chosen Option : 3
Ans
X110 Marks :1.00
/< 2.0.3048
o 3 254
/< 4.1.852
Q.7 which of the following sugars is present in milk ? Question ID : 42483740
PraRm deshmdSfteadgar £ ? Status : Answered
A Chosen Option :1
ns x 1. bietose Marks :-0.33
waFetaT
Lactose
2.
E g
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Glucose

Q.8

Ans

A certain sum of money becomes three times of itself in 20 years at simple

interest. In how many years does it become double of itself at the same rate ?

% faffas ofir 20 aut # womoT @wr @ F Aww & AT gEw g I
#1 3 weRor TU % aT @ fraw awt & aroer & gepem gy wmeem ¢

8 years

gt

10 years

10 st

12 years

12

14 years

14 7sf

Question ID : 42483782
Status : Answered
Chosen Option : 2
Marks :1.00

Q.9

Ans

How many kilobytes (KB) make one gigabyte (GB) ?
o e A fFad e e ¥ 2

/< 1,100

« 2. 1000000

/< 3. 100000

/< 4. 10000000

Question ID : 42483745
Status : Answered
Chosen Option : 2
Marks :1.00

Ans

Q.10 I paid 3/5'*‘ of a bill. If T 400 of the bill is still due, what was the total amount of

the bill ?
s fawr &1 3/, @t o Aw ge fer 1 s feer #2400 it wve At

forer =1 ot = fegem w2
W 1.2 1000
75 2. 21200
/< 3. %1500
/< 4. T 1800

Question ID : 42483791
Status : Answered
Chosen Option : 1
Marks :1.00

Q.11

At an instant, the length of the shadow of a pole is v/3 times the height of the

pole. The angle of elevation of the sun is

TIRW FAT &, U5 TEd Y o & wred mEl frees s V3 g

Downloaded from - www.exammix.com
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Chosen Option : 3
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Q12 Wwhich is the longest railway tunnel in India ?

https://cdnBig)le}(yn.@(!r(r?/%glgo(’}l/ptEQm /toachyt\c(nwe/x\sl§£s)r(n§nml%gem1 28701813/128701813S1D51/15305898668409861/4321015...

- £ Question ID : 4248372
YRS S FaE widll o HLr Hi-Ht 82 Status : Not Answered
Ans X MNatuwadi Tunneal Chosen Option : --
1. AT Marks : 0.00
x ) Berdewadi Tunnel
G e
X 5 Karbude Tunnel
Pir Panjal Tunnel
v & : :
IR T g
Q.13 Complete the alphabetical series choosing the most appropriate
option given below :- Question ID : 42483763
Status : Answered
U,0,2,EA Chosen Option : 4
Marks :1.00
Tr o Rwedl # § weifts suges Rwew Sf g7 ST IoiATeT s &1 o@
Exd
U,0,2,EA
Ans X 1. B
X2c
X3 T
v
Q.14 cjj; :
Silicon is mmmnnhf used Question ID : 42483725
ot araalr oo wgE g arer & Status : Answered
Ans Chosen Option : 2
x 1. ChRE ek Marks : -0.33
Hleldy
Insulator
2.
x frgga- Oeft
Semi-Conductor
3.
Y- IS
Amplifier
4,
YFEEET
Q.15 —
The Speaker of Lok Sabha is : Question ID : 42483711
Status : Answered
i THT & Feaer § -
% Chosen Option : 1
Ans Shri Venkiah Naidu Marks : -0.33
1.
st d&ar Arag
Smt. Meira Kumar
2.
siardt #r FAT
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Smt. Sumitra Mahajan
3.

shaeh g agrer

Shri Hamid Ansari

xa
st gifae swrdr
Q.16 .
Acronym BRICS stands for : Question ID : 42483718
e &7 Samersdiry wigea wr - Status : Answered
A Chosen Option : 1
ns : : ? : ;
1 Brazil, Russia, India, China and South Africa Marks - 1.00
Bangladesh, Romania, India, Canada and Syria
2.
TRy, TATTOET, HRE, ST Hr ffe
Bhutan, Russia, Iran, Colombia and South Africa
3.
HEW, T, 3O, Frateaar AT sfEor sder
Brazil, Russia, Iraq, China and Sri Lanka
4.
Q.17 The area of the largest circle that can be drawn inside a square of side 14 cm .
) Question ID : 42483784
R _ Status : Answered
waE 92 g &7 swd e 14 HEe 4o & oot A e s s ¢ - Chosen Option : 2
Ans x 1. 84 cm2 Marks : 1.00
' 2 154 cm2
/< 3. 204 cm2
/< 4. 176 cm?
Q.18 Pandit Buddhadev Dasgupta, who passed away recently, was a well known
. 5T Question ID : 42483748
maestro of which musical instrument 7
Status : Not Answered

uRtT qaueE are, Ree g A fue gan, 5w weile ames # o & 2

Ans Sarod

Vi

Tabla
X2
agdr

Sarangi
o
Bansuri
X 4

gl

3.

Chosen Option :

Marks

:0.00

Q.19 with which country does India not share it's border ?
SR & dAe fFw 3 & wmer Agr werd § 2
Ans China

Xtihﬂ

Question ID

Status

Chosen Option :

Marks

142483717
:Answered
4

:1.00
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Bhutan

Xz'm

o

Mynmar
Xa
AT

Iran

https://cdnBig)leyynQ(!r(r?/%glgoql/pfjggm/toachytgnweﬂ ss'gs)r(ngnm'l\%gem

[

Q.20 i ication, is basi -
Work Book, in a computer application, is basically related to : Question 1D : 42483723
*"ﬂ_@? # T:iﬁjl? FHEAR W m HafaT E’R-h' %Z- Status : Answered
Ans X 1. MS Power Point Chosen Option : 3
. Marks :-0.33
7< 2. Adobe Reader
7< 3. Ms Word
o 4 MS Excel
Q.21 A train 100 m long moving at a speed of 50 kmph crosses a train 120 m long
: e ; Question ID : 42483780
coming from opposite direction on parallel tracks in 6 seconds. The speed of the
- Status : Answered
second train is :-
A Chosen Option : 2
TF 100 AeT & ad! Tt W oA 50 e s w fraw w
Marks :1.00
FAat 9edt 0T fawdia far & amelt g€ 120 e st @ o w6 RFE
# TR T FE {1 g = o fr 9w o
Ans x 132 kmph
1. ;
132 fFetdteT o ger
v 82 kmph
2.
82 fratdter wid ger
x 60 kmph
3. :
60 frarHteT ufer wer
x 50 kmph
4, N
50 fretdteT wier er
Q.22 1 e B P
The 'Rann Utsav’ is a festival celebrated in :- Question ID : 42483720
ToT muﬁ AFET FTaT g‘ i Status : Answered
A ) Chosen Option : 1
ns X1 Rajasthan Marks :-0.33
T
Madhya Pradesh
2.
AET 9T
Gujarat
v &3
X Haryana
4.
gimmon
Q.23

]
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What does RAW stand for ?
HIL.U. Zeod. &1 I AR F4T § ?

Ans X 1 Read after Writing
iz srreT Tl
V> Research and Analysis Wing
x 3 Regional Aviation Wing
- fioee wiawee R
X 4 Roval Agency of Warsaw
T N

Question ID
Status

Chosen Option :

Marks

14248373
:Not Answered

:0.00

Q24 whatis 7 /g thof 60% of 80 ?
80 & 60% FT7/; ¥ fopem grm?

Question ID

Status

142483769
:Answered

UlNE dcd F ggd &I
o : To combat infection
| FEAT A
To carry oxygen
> Sredtae a5 ST
To maintain pressure

4.
o A TEer

Chosen Option : 2
Ans x 1. 28 Marks : -0.33
/X 2.56
/< 3. 48
W 4 42
Q.25 which of the following is a correct sequence of sea ports of India from “South to
i Question ID :42483750
North” ?
# % o A — A . -~ Status : Not Answered
FrrmfiEa | S5EeT 1 A FIE IR F I
i Chosen Option : --
FAARE? Marks : 0.00
Ans Cochin—Thiruananthapuram— Calicut— Mangalore
1.
srw— faremaga— Fifese— AmaR
x Calicut—Thiruananthapuram— Cochin— Mangalore
2.
Fioge— faworagw— sHfa— AR
v Thiruananthapuram— Cochin— Calicut— Mangalore
3.
rrsdagHA— sm— sifse— AmeR
Thiruananthapuram— Calicut— Mangalore— Cochin
4.
A Fifase— AUER— S
Q.26 i i i i 2
What is the main function of white blood corpuscles ? Question D : 42483734
THE [&d HOFT FT T &4 FAT§ ? Status : Answered
Ans . Chosen Option :2
x 1 To carry nutrients Marks - 1.00

https://cdnBige}{yn.rc?(!r(r?/%glgo(’}‘/pfjggm /toachélt\c(nwez/x\s/§£s)r(n§nw\%9em1 28701813/128701813S1D51/15305898668409861/4321015...
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Q.27 p chemical reaction is called a reaction, when heat is given

i Question ID : 42483721
Status : Answered
v mafes afifear & o feadt § 3w AT T Chosen Option : 3
T 2 Marks : -0.33
Ans x Decomposition
1.
HOHZA
v Exothermic
2.
FoATEHY
x Endothermic
3.
FEHTANET
x Combination
4.
Hare
Q.28 A worker's salary was increased by 30%, so that his salary becomes ¥910.
tion ID : 42483770
How much did he earn before the increase ? Cuegyon
P—— £ ori —_— - Status : Answered
T FAAM 30% qzﬁt , o T 910 gr a4m| ;
% Chosen Option : 3
Fead g ¥ Uger IWET da9 F4T a1 Marks : 1.00
Ans 5" 1. 810
75 2. 880
( 3. 700
75 4. 1300
Q.29 If the interest is payable annually, then the principal on which the mmpound .
Question ID : 42483786
interest for 3 years at 10% pa is ¥ 331, is given by :-
Status : Not Answered

FRET W Yt am g A A A aw ofr g, e w

Chosen Option :

10% wfeed & R & &9 o9 =1 Fomw T 3318 # - Marks : 0.00
Ans X" 1. 790D
o 2. 71000
75 3.7 1050
75 4.7 1100
Q.30 Find the correct alternative of the following :- Question ID : 42483751
Frwfafee # & 96 fawew =1 9a9 &7 - Status : Answered
Play : Director :: Newspaper : ? chosen C,\)Apatiriz f.oo

By AR O ?

Ans Owner
Ko

A=

Editor
2.z
L IEED
Manager

XB-m
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Coloumnist
4,
FHteTE
Q.31 . . .
LIH:KKI::CIA:? Question ID : 42483752
Ans « 1. BIB Status : Answered
Chosen Option : 1
< 2. BBB Marks : 1.00
/< 3. DBB
/X 4. CBZ
Q.32 A 130 m long train crosses a bridge in 30 seconds at 45 kmph. The length of .
Question ID : 42483779
the bridge is :-
. Status : Answered
130 Ftex 7ot oF 1@ M 45 fretAter wfr 92 & 9= & Tw g &Y 30 Chosen Option : 3
#Hvz # U FAE §1 A g A o § - Marks :1.00
Ans x 200 m
1.
200 #rex
225 m
2.
225 AfET
245 m
3.
245 AfET
250 m
4.
250 #rEx
Q-33 Tyt RV B Nt s oy AL H "
If '+' means X', -" means *+’, 'x" means -’ and means "+, then what is Question ID : 42483755
the value of 18+12-4+5x6
Status : Answered
o Emad ¥R UE At OR e gy g et w o g Chosen Option : 1
ar Bres &1 A FaT g - Marks :1.00
18+12-4+5x6
Ans o 1. 53
75 259
/X 3. 63
/X 4. 65
Q.34 Who lead the Indian delegation at the 48% Annual Meeting of the World
: ; - Question ID : 42483746
Economic Forum held in Davos, Switzerland on January 2018 ?
) . Status : Answered
FeEdl 2018 & wiEative & W # aitag 48 71 Iits g aflds o
& Chosen Option : 3
A9 A AR wiafailes dze & dqee ew e e Marks : 1.00
Ans Suresh Prabhu
Ko
Arun Jaitley
2.
X HFOT SATHT

https://cdnBigMn@Jm/%gEOq/ptggm /toachyt\c(nwe/x\sl§£s)r(nenm%\%9em1 28701813/128701813S1D51/15305898668409861/4321015...
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Marendra Modi

Ans " 1140

Downloaded from - www.exammix.com

3.
mig A
Piyush Goyal
4.
Rrger araer
Q.35 z z : .
The Parllament c_nf India consists of : Question D : 4248376
yR Fr FHe & T ¢ Status : Answered
Ans X ] Lok Sabha Chosen Option : 3
| w@r ' Marks : 1.00
X 2 Lok sabha and Rajya Sabha
wiF 79T I e '
« ; The President and the two Houses
yregafa Ay 2wt weA
X . The Prime Minister and the two Houses
v Fa Ay @t wew
Q.36 i i it ki i
Which branch of science deals with kidney diseases ? Question ID : 42483741
e & 5w aman & 7€ F1 srewaw e Sar B 2 Status : Answered
Chosen Option : 2
Ans Urology P
x 1 Marks :-0.33
o faremer
X Meurclogy
2.
#hEr-faae
» Nephrology
3.
AWTATHAT
x Gastroenterology
4.
U A=
Q.37 Fi i -
Find the mode of the following data : Question ID : 42483761
. Status : Answered
Teatfae st = qgos AT #faT - Chosen Option : 2
Marks :1.00
/0,80,65,90,70,90,80,70,75,65
Ans x 1. 65
W2 70
/< 380
/< 4. 90
Q.38 The LCM of two numbers is 114 times their HCF. If the sum of LCM and HCF is .
Question ID : 42483768
2300 and one of the numbers is 380, find the other number ?
) Status : Answered
% FEs 1 9.9, 395 A &7 114 o ) ofy w.w. st Aw s g Chosen Option : 2
2300 & v ww F=ar 380 §, At gwdh FEw T fifEw Marks : 1.00
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v 2. 120
7< 3160
< 4.190
Q.39 i i i i
Which of the following is not a primary colour ? Question ID : 42483731
R A s-os R T ag & ? Status : Answered
Chosen Option : 2
Ans
x 1. e Marks :-0.33
CIC)
x Yellow
2.
dar
Red
< 3.
~ Black
4.
&l
Q.40 i i
What is the approximate PH value of human blood ? Question ID : 42483712
ATeE @ & O v & s A oFT R 7 Status : Answered
Chosen Option : 1
Ans X' 1.6.7 Marks : -0.33
X 281
K379
o 474
Q.41 ..
CO; + H0=7 Question D : 42483737
Ans X 1. CO; Status : Answered
Chosen Option : 3
75 2. H:0
_ Marks :1.00
o 3. HCO:
x None of the above
4' . &
INET A § Fg Agl
Q.42 i i i .
The top most layer that is exposed in @ human body, is called : Question ID : 42483714
AT iR # o1 F FEE I, ge WT F FGT FE A9 7 Status : Answered
Ans Epide"ﬂis Chosen Optlon 1
v Marks :1.00
AT vivsf#E)
x Endodermis
2.
HaTcaTm (vEEfEE)
x Sclera
3.
93TTET (TFo)
x Hypodermis
4.
AT (FrEUEEE)

Downloaded from - www.exammix.com'
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13601 # ¥ #gwaA wear fFaer e I Sew fF ar 87 @ ooie fonfae

Chosen Option :

Q.43 »Gragt Bear® s the name of g = Question ID :42483719
Status : Not Answered
RN AW E T F Chosen Option : -
Ans _ Constellation Marks :0.00
1.
dHTHAEA
Galaxy
X2
HTRTIMETIT
Star
X 3.
Moon
r
ELL'ES
Q.44 what least number be subtracted from 13601 to get @ number exactly divisible .
Question 1D : 42483773
by 87 ?
Status : Not Answered

ghame ? Marks : 0.00
Ans X 1. 49
X 2.23
W 329
<431
Q.45 what series of alphabet place values will be proper to write the word LOAN ? .
{ Question ID : 42483758
LOAN ez &t Brast & R o & aviamer & frw ve AW gwen &1 Status : Answered
T HTAT Wl g ? Chosen Option : 2
Ans X 1.13,16,1,12 Marks :1.00
o 2 12,151,14
/X 3.21,12,2,18
X 4.12,14,1,15
Q.46 " e
Present Attorney General of India is : Question ID : 42483726
YRS & TaAE At oA § - Status : Answered
Ans Mukul Rohtagi Chosen Option : 1
1. Marks :-0.33
AT Tgamit
« K.K. Venugopal
2.
.. A
Harish Salve
3.
ghar wo
x Soli Sorabjee
4.
et BRTEST
Q.47

Downloaded from - www.exammix.com
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A trader lists his articles 20% above cost price and allows a discount of 10% Status : Answered
on cash payment. His gain percent is :- Chosen Option : 2
TF =T O WA W 9 AT ¥ 20% #fhw sfEa s § ek Marks :1.00
A% wiE W 10% & e & 9wom Far §1 37 oy uidea § -
Ans & 1. 10%
W 2 8%
753 6%
75 4.5%
Q.48
I _1 = 0.02314 , then 1 = 7 Question ID : 42483766
43.21 0.0004321 Status : Answered
Chosen Option : 4
Marks :1.00
afx 1 = 0.02314, % &r 1 L 3
43.21 0.0004321
Ans % 1. 0.0002314
75 2. 23.14
X 3.231.4
v 4 2314
Q.49 i ; -
The number of neutrons in an atom is equal to : Question ID : 42483736
TF WA # Fggal S gear FHed away gt g7 Status : Answered
) Chosen Option : 2
Ans Mass Number-Atomic Number )
« 1 Marks :-0.33
FAH HEGT-9IAT] FEdT
x Atomic Number-Mass Number
2. . )
TIATY] FEAT - FeA Wt
Mass Number +Atomic Number
3. p ;i
x gedH HEDT +1:I'GITUJ; HEdr
Atomic Number +Number of o particles
4.
UTATY] WEAT + o FOH H FEdT
Q.50
(a+b)? , Question ID : 42483790
a2.h2 - Status : Answered
Chosen Option : 3
Ans x ab Marks :1.00
a+b
2ab
X 2
a-b
a+b
v 3
a-b

Downloaded from - www.exammix.com
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Mone of these

K4 o i

Q.51 The 5 permanent members of the Security Council are :-

. ¥ Question ID : 4248378
2 &5 E é . g'_ Status : Answered
Ans USA, Russia, China, France, U.K. Chosen Option :1
V' e, v, e, W, T Marks :1.00
X 2 USA, Canada, Australia, France, China
X 3 China, USA, Japan, Russia, U.K.
- =i\, Uy, JUE, 76, 9.5
USA, China, Japan, France, U.K.
X 4 3
quHy, e, JTE, B, TE.
Q.52 If the mean of distribution 10,8,15,12, K, 25 is 12, find the value of K ?
Question ID :42483762
T fraor 10, 8, 15, 12, K, 25 &1 AT 12 & K &7 7 77 £ | Ql2lyy): Answered
Chosen Option : 2
Ans X 1.1 Marks :1.00
o2
K33
X 44
Q.53 i - - ieg ?
Which one number will complete the following number series ? Question ID : 42483753
frafofaa smer & sl § s FEar g Sl 2 Status : Answered
T T r Chosen Option : 2
romr e e Marks :1.00
Ans <"1 24
( 2.13
X320
K421
AN
Q.54 i ; ; .
Winter Olympics was held in February 2018 at : Question D : 42483735
Status : Not Answered

maﬂmzmaﬁaﬁgmm?

Ans Seoul

Ko

Chosen Option :

Marks

:0.00

=

) Pyongyang
qrgiaRrTT

; Pyeonchang
drsiteraier
Rio De Janeiro

4.
frar 2 F=1

x

v

Q.55

Downloaded from - www.exammix.com
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If the diagonal of a rectangle is 17 cm long and it's perimeter is 46 cm, the

area of the rectangle is :-

AT UF Haa & et 17 g sE § s oy oftfafy 46 A & Ay
HOT FT 96 & -
Ans & 1. 100 cm2
75 2. 110 cm2
W 3 120 cm2
< 4. 150 cm2

Status : Not Answered
Chosen Option : --
Marks :0.00

Q.56 Pperiodic Table was devised by which chemist ?
foremr & & Torm TomoenymeRt SET T WO FT Feftscor favar a2

Ans Marie Curie
1. T
Joseph Priestley
" e R
Dmitri Mendelesv
e A
Alfred Noble

K4 s stier

Question ID : 42483742
Status : Answered
Chosen Option : 3
Marks :1.00

Q.57 A person is called computer literate, if hefshe is able to -
FIE miFT "FE W FgedT § oy 3§ 96W @ e -
Ans Hack other computers
" g do W i w A
Write programs
. vane rEe &
Run need-based applications
’ 4TS vitadEal 1 Tast &
Create anti-virus software

X 4
TE-aREE Hireada] g9 A

Question ID : 42483724
Status : Answered
Chosen Option : 3
Marks :1.00

Q.58 A car travelling with 5;‘?“‘ of it's usual speed covers 42 km in 1 hour 40 min 48

seconds. What is the usual speed of the car ?

TE TN NUA WUROT A & 5/, T e & wer gw 42 freter & a1
weT 40 Az 48 ¥Fve # a9 Frdt §1 I mener O 4w § 7

Question ID : 42483777
Status : Answered
Chosen Option : 4
Marks :1.00

Ans

177 /g kmph
1.
177/, Reester wfer gz

25 kmph
2

25 fretdter ofy g@er

Downloaded from - www.exammix.com
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Q.59 2017 Raniji Trophy in cricket was won by :-

Question ID :42483728

dg-A9HA
Photolysis

R e—
Electrolysis

X 3 R

Radiolysis
r J
fafFror-sraaes

frde & 2017 Torst v ST o - Status : Answered
Ans vidharbha Chosen Option : 4
« 1. Marks :-0.33
ferzat
Delhi
2.
ferestt
Mumbai
< 3
x Karnataka
4.
FAEHT
Q.60 i j i ian in -
B.angladesh came i[]t{} being as an independent nation in : @uestion ID : 42463710
AT Y UF TIGA U F T A Frew mer & amam - _
Status : Not Answered
Ans " 11970 Chosen Option : ==
Marks :0.00
< 2. 1969 anes
W 3 1971
7< 4. 1980
Q.61 itti i i
The process of splitting water molecules by light energy is called Question ID : 42483722
W I ¥ O & 5] & frasw fr afear & FgT FT gl Status : Answered
Ans Thermolysis Chosen Option : 2
x 1. Marks :1.00

https

Q.62 If 21 cows eat as much as 15 buffaloes, how many cows will eat as much as 35
buffaloes ?

HAT 21 A TFET @ @ § faaer 15 4% andt § ar et o ae @
FEwt Basr 35 4 =@ET #
Ans  of 1 49
/X 2.56
75 3. 45

Downloaded from - www.exammix.com

Question ID : 42483787
Status : Answered

Chosen Option
Marks :

1

1.00
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MNone of these

4.
TR ® FE A

Q.63 Which of these is not an Operating System ?
@8 @ wiF-ar s Hwfie fawew A &

Ans Android
Ko

Question ID : 42483715
Status : Answered
Chosen Option : 1
Marks :-0.33

Q.64 A certain sum is invested on simple interest. If it trebles in 10 years, what is the
rate of interest ?

s ffias offr srawer soe 9 T & Frdyr T ) A 10 awt F
et dam ST
Ans X1-13%Dﬂ
o 2. 20% pa
/< 3.22% pa
75 4.25% pa

Question ID : 42483781
Status : Answered
Chosen Option : 2
Marks :1.00

Q.65 Four words are given below out of which three are alike in some manner and
one is different. Which one is different from the rest?

7 I 9re Rw Tw ¥ Bd ¥ 9 et e F o mEw ¥ s o e
& 37 e seE SlE-ET 2

Ans Paper

Ko

STl

Blackboard
2

' JUTATEE (eoiTals)

Slate
3.

e
Chalk

(4.@

Question ID : 42483757
Status : Answered
Chosen Option : 4
Marks :1.00

Q.66 Which is the longest key on a computer key board ?
fore # & sFqer W wEw FFaT FEE SlEE g7
Ans X" 1 Enter key

/< 2. Alt key
X 3. Curl key

Downloaded from - www.exammix.com

Question ID : 42483744
Status : Answered
Chosen Option : 4
Marks :1.00
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o 4. Space bar
Q.67 The Constituent Assembly adopted the National Flag on :-
E 3 Question ID :4248377
T FAveT d@faue @ 29 e feenis oY soemE I -
E= Status : Answered
Ans x 1 22 August, 1947 Chosen Option : 4
- 22 raTed, 1947 Marks : -0.33
« 5 22 July, 1947
|22 S, 1947
X 5 22 September, 1947
22 fawey, 1947
X 4 22 October, 1947
§ 22 AL, 1947
Q.68 Hari's income is 20% more than Madhu's income. Madhu's income is less than i
Question ID : 42483774
Hari's income by 2
Status : Answered
A ImAg R AT 20 vm sl Ay A aw g Hr o & Chosen Option 2
Py sR & 7 Marks : 1.00
Ans " 1. 15%
W 2. 16 2/5%
/X 3. 20%
X 4. 22%
Q.69 Aot
Solve for‘a Question ID : 42483772
‘a’' & A 71T &3 - Status : Answered
Chosen Option : 2
rd 5 Marks : 1.00
a-2 a+4
Ans x 119
W 2 -19
75 338
X 4 -38
Q.70 1In a party, every couple has at least one child (all minors) with them and there .
: g ; Question ID : 42483759
are 12 couples. Which one of the following inferences would be possible ?
. . Status : Answered
TF Rl # @ FE & W FA-V-FA UF Td7 (9 AEreer) §, 3w F97 12 )
Chosen Option : 2
a2 § | Praliee & @ s sqae aw 2 Marks : 1.00

Ans There are 22 females in the party
a ot & 22 Afend ¥ |
There are a minimum of 36 people in the party
e FA-B-FA 36 wwr §

x There are a minimum of 24 males in the party
3.
udt # FF-R-FA 24 7

Downloaded from - www.exammix.com
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There are only 12 males in the party
4.
X i # FEer 12 g 2

Q. Indian shooter who won a gold medal for men’s 50 m rifle 3 position event at

the ISSF Shooting World Cup in Mexico on 10.03.2018 :-
aEw e, Gaw dRTs # s T s s o T

Toramatarsit # 10.03.2018 FY et & 50 Frey wew 3 Sy sfifer &
w9t UEw -
Ans Sanjeev Rajput
F
HaftT T
Alkhil Sheoran
2.
s Has
Swapnil Kusale

X‘?'Eai

Gagan Marang
4

amaTer AT

Question ID : 42483743
Status : Answered
Chosen Option : 4
Marks :-0.33

Q.72 \which is the largest gland in the human body ?
AT iR & §aW T2 e sle-wm § 2
Ans Gall Bladder

Appendix
Fegaer
Rectum

X 4

K3

Question ID : 42483739
Status : Answered
Chosen Option : 1
Marks :-0.33

Q.73 Find the area of a square whose diagonal is half of 12 cm :-
TF T FT SEEe A9 Siiew FEer et 12 @6 F1 amar &
Ans 36 sq.cm

36 TH AAL

Question ID : 42483767
Status : Answered
Chosen Option : 1
Marks :-0.33

18 sq.cm
18 =t 2L
72 5q.cm
72 = A
64 sg.cm
64 Tt AAL

Q.74

Downloaded from - www.exammix.com

Question ID : 42483760
Status : Answered
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Ram is taller than Geetha. Vimla is taller than Ram but shorter than Meena.
Bindu is taller than Geetha but shorter than Ram. Who among the given people
is the shortest ?

mwmAmgdn Y AR A A e o g i @
difgifFsm I o g A e e A A S aa@ S sl ¢ 7
Ans Ram

Chosen Option :
Marks :

3
1.00

Q.75 How much would a sum of T16000 approximately amount to in 2 years at 10%
pa compounded half yearly ?

2 F it 10% vfoad oA awggfl & 116000 &1 A7 UM sEe feaw
forsersr & ofEfds gham 2

Ans X 1. 317423
/X 2. %18973
o 3. 319448
75 4. 719880

Question ID
Status

Chosen Option :
Marks :

142483785
:Answered

3
1.00

Q.76 where is the Rail Wheel Plant located ?
Yo oftar sREET Fg g

Ans X 1 Bengaluru
G

Bela, Saran
=T, AR

v

X 3. Varanasi
FRTOTHT

x 4 Rae Bareli
T T

Question ID
Status

Chosen Option :
:-0.33

Marks

14248374
:Answered

3

Q.77 A is twice as fast as B and B is thrice as fast as C. The journey covered by C in

42 minutes will be covered by A in :-

B¥® Agae o dtean § st C¥ B Repw 37 glear §1 afx C srweht oft amr
AT A S ol T = A S waEw e

Ans 7 minutes
1.
7 fame

14 minutes
2.

14 A=
28 minutes

3.
28 f=e _
Downloaded from - www.exammix.com

Question ID :

Status

Chosen Option :
:0.00

Marks

42483778

:Not Answered
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63 minutes

63 forere

Q.78 An electric bulb of 60W is connected to a source of 240V. What current
will be drawn by the bulb ?

60 afe F1 vF faorell &1 757 240 oz & UF WA F I G ToA F
waTRa g arel awr @ g ?
Ans 1 4A
/X 2. 2.5A
/X 3. 0.4A

4 0.25A

Question ID
Status

Chosen Option
Marks

:42483713

:Not Answered

:0.00

Q.79 Boundary line between India and Pakistan is known as :-
s i wifFream & dar T & T FEr e -

Ans x1 Macmohan Line
| #AwARd
Durand Line
2. .
x = &
Radcliff Line
3.
v =feE o

Maginot Line
4. B
x #Aif=ie =T

WWW.exammix.com

=

Question ID
Status

Chosen Option
Marks

: 4248379
:Answered
1

:-0.33

Q.80 what is the method of taxing called wherein there is an increase in tax
rate as taxable amount increases ?

&1 wemet &1 3w A & ospe § e st - oivg offr # 2@ gw o

Question ID : 4248375
Status : Answered

Ans X1 6-13-19-17-3

whw# FJ rEr? Chosen Option : 3
Ans v Progressive Tax Marks : -0.33
1.
HTET FT
X 2 Regressive Tax
|
x 3 Aggressive Tax
| HTRIAT T
x 4 Digressive Tax
- mafawd &1
Q.81 1f GUEST is coded as 9-19- 7-17—22, then HOUSE is coded as:- )
Question ID : 42483754
afy GUEST &Y 9-19- 7-17-22 & ¥ & =Yz fkem omar £, @t HOUSE =Y 3=t Status : Answered
T AT ST ? Chosen Option : 2
Marks :-0.33

X 2.10-17-23-21-7
o 3.10-13-23-17-7
/X 4.10-13-19-17-3

Q.82

Downloaded from - www.exammix.com
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Status :
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Which of the following countries has recently joined the Australian Group Export
Control Regime ?

foreafafea & & strwr v g @ F weRw Pt waAE & welf gor 2
Ans South Africa
1.
Zf&ror T
China
2.
Cin)
Russia

x

Chosen Option
Marks

:0.00

Q.83 Name of scientist who is famous for his theary of gravitation and the

three laws of motion :-

¥ dmfes &1 @ A e st afy & A= frawl & Rw oftmy € -

Ans ( Isaac Newton
1.
THIE FEA
Thomas Alva Edision
2

| siAw TeET vhEEA
Charles Darwin

> aret st

Albert Eienstein

ol Hoge WErEdw

Question ID
Status

Chosen Option
Marks

142483729
: Answered
1

:1.00

Q84 1 ogp— 4/, then secg + tang = 2

gfE coso= 4f5 %, At seco + tang = 2

Ans X 44
Vo2
X33
X4 4

Question ID
Status

Chosen Option :

Marks

142483771
:Answered
2

:1.00

Q85 Gps stands for :-
St dt v &1 @ AR

Ans X 1 Global Peace Summit
Roicolic i

V2 Global Positioning System

TeEw OifsyET A

x 3 Global Prime System
TaEe wEwE feew

x 4 Global Postal System
| ToEw oeEw e

Question ID :

Status
Chosen Option
Marks

4248371
:Answered
12

:1.00
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Q.86 \which of the following is used in water purification ?
AT R T IsaMmE S P g ¢ ?

Ans X Osmosis
1,
I EEoT

Reverse Osmosis

" &)

Turgor Pressure

A S —

Question ID
Status

Chosen Option :

Marks

142483716
:Not Answered

:0.00

Q.87 If the difference in time between two places is one hour, what is the
difference between their meridians ?

afr 2 et & T & AT # o O 7 Haw E, A s duneaw rEe H
fraat FTadm & 2
Ans x1. 20°
X 2,300
75 3. 60°
W 4. 15°

Question ID

Status :
Chosen Option :

Marks

142483738
Answered
1

:-0.33

Q.88 Which country’s team has won the 5% edition of Blind Cricket World Cup, 2018 ?
e & Fha-wr 2o fng = fese ST &7 o= SeT0r 2018 & FEm ?
Ans Nepal

X1'a“m

Bangladesh
. Fremer

Sri Lanka
 slrET

India
4.

qHIA

X2

X3

Question ID
Status

Chosen Option :

Marks

142483747
:Answered
4

:1.00

Q.89 ywhich drugs are used to lower the body temperature ?
R IR A FH S e FE e s e T s ¢ 2
Ans Anti pyretics

v @ graifeew
Sedatives

derew
Marcotics

3.
Anti-biotics

| e

X2

Question ID :

Status

Chosen Option :

Marks

42483733
:Not Answered

:0.00
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Q.90 i i _gj
Which lenses are used by people having short-sightedness ? Question ID : 42483732

wrl Zamr fase =foe 2w A fw ow & vt fFar s § 2 Status : Answered

Ans Convex Chosen Option : 2
1. Marks :1.00

Concavo-Convex
3

| HETw- T

Plain
X 4
HHOA

Q.91 Oranges are bought at 5 for 10 and sold at 6 for ¥ 15. The gain percent is :-

: : 3 Question ID :42483775
210 & 5ane @ie A § s 715 A& 6 AEl 3= A ) swe I

Status : Not Answered
wisra ¥ - Chosen Option : -

Ans x 1. 50% Marks : 0.00

< 2. 40%
/5 3.35%

W 4 25%

Q.92 Col hension/
mprehension/ A& Question ID : 42483796

Study the table given below and answer the questions that follow Status : Answered

Number of students from various schools playing various games

Chosen Option : 1
A fow oo eforr & Rfles asamenst & faftes do dod gr g

Marks :1.00
o T ar 1 afaET &1 weaaw ¢ st i e mat &1 saEw &
Games Schools
I II II1 v v
Football 125 250 100 175 250
Basket ball 175 200 195 245 225
Cricket 250 200 225 215 200
Tennis 240 210 200 130 165
Badminton 75 125 55 45 100
What is the difference between the average number of students playing all the
given games from school I and the number of students playing badminton from
that school ?
a1 & weft O dee e stew T4 AR 3 o ® d=few @
3 T T HaT T E ¢
Ans { 1. 72
/< 2. 65
/< 3. 78
Mone of these
F 0
Downloaded f i ' ‘
ownioaded 1rom - www.exammix.com
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Q.93 Comprehension/ AT Question ID : 42483792
Study the table given below and answer the questions that follow Status : Answered
Number of students from various schools playing various games Chosen Option : 4
e fre e o # fafter aewEns ¥ Rt @9 @ g g o Marks :1.00
e ¥ @R &1 Fvaaw i v e e mal &1 FEw &

Games Schools

I II II1 v v
Football 125 250 100 175 250
Basket ball 175 200 195 245 225
Cricket 250 200 225 245 200
Tennis 240 210 200 130 165
Badminton 75 125 55 45 100

If 20% of the students playing football from school I also play Badminton, what
should be the total number of students playing Badminton from school I ?
AT TTSATST 1/ 20% I Fedta Gewt & ot d=fiew o e ¥ At g

grsare ¥ For frae o dsfiea dua § 7
Ans X" 1.110

75 2.120

/< 3.95

o 4 100
Q.94 comprehension/ TFEer

& Question ID : 42483794
Study the table given below and answer the questions that follow Status : Answered
Number of students from various schools playing various games Chosen Option : 3
A few aw Aot & ffies orewenst ¥ R e @9 gw 3w Marks : 1.00
BTH TATAT AT 2| AT FT oaewaa ¥ Ay Rw o meAt @ oFEE &
Games Schools

I II il v v

Football 125 250 100 175 250
Basket ball 175 200 195 245 225
Cricket 250 200 225 215 200
Tennis 240 210 200 130 165
Badminton 75 125 55 45 100

What is the difference between the average number of students playing cricket
from all the schools and the average number of students playing tennis from all

the schools ?

weft syt ¥ fede Sea gu slww T=i i e @ gu st
TR AR FME ?

Ans <"1 31

K 226

W 329

X 433

Q.95
Question ID :42483795

Status : Answered

" Downloaded from - www.exammix.com
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Comprehension/ AT Chosen Option : 2
Study the table given below and answer the questions that follow Marks :-0.33
Number of students from various schools playing various games
AR fow are A # Rftee st @ fftes @ @ gT T
ST AT AT & ST ST atwaa ¢ it R v mat & Faw &

Games Schools
I II 11 v v
Football 125 250 100 175 250
Basket ball 175 200 195 245 225
Cricket 250 200 225 215 200
Tennis 240 210 200 130 165
Badminton 75 125 55 45 100
The number of students playing football from school IV is what % of the total
number of students playing all the given games from that school
(Rounded off to 2 digits after decimals) ?
mw#wmymm%,mmm#wwﬂaﬁgq
T T4 F1 frae § 2 (@FET F 92 @ A@F 9% We)
Ans " 1 20.61
/X 2.21.59
/< 3.20.59
MNone of these
v &3
AR & FIs 7@l
Q.96 hension/

DR Question ID : 42483793
Study the table given below and answer the questions that follow Status : Answered
Number of students from various schools playing various games Chosen Option : 2
A= fe v ol # ffies et @ R @9 g9 gT g o Marks : 1.00

Ans

o T ¥ ST ST Ftaae w§ it e v mat w1 s=w &)

Games Schools

I II III v v
Football 125 250 100 175 250
Basket ball 175 200 195 245 225
Cricket 250 200 225 215 200
Tennis 240 210 200 130 165
Badminton 75 125 55 45 100

The number of students playing Basket ball from schoaol III is approximately
what % of the students playing basket ball from school v ?

QTESITSAT 111 & TEFediar Woe Jrd ST USnaT V § ITEsediel Toe Jmet
oo F FE e &2

< 1. 75%

W 2 87%

/< 3. 94%

X 4 B1%

Downloaded from - www.exammix.com’
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Q.97 A question and three statements labelled (I), (II) and (III) are given. You have Question ID : 42483797
to decide which statement (s) is/are sufficient to answer the question. Status : Answered
Chosen Option : 3
How far is Sasa's school ? Marks : 1.00
1 Sasa is a girl studying in standard 9.
II Sasa's mother drops her first at school and reaches her office which is 10 kms
away
I1I Sasa takes 15 minutes travelling by bus and 30 minutes by cycle
A v maw A i = (), () A ) o #
o=t ag forofw o= § F ma 1 3eow & & B shhw Fhw e
e §E
W T TS At gy § 7
I wraT 98t wem FY =T §
1. |TET #Y A uger 3@ IWF T St ¥ AR B s st e § St
& mh
1. &/ 787 & 15 e sty wfee & 30 fee & amr w0t
Ans X 1, II and III are sufficient
1.
I 1 3 s g
_II and III together are sufficient
2.
1 #r T §
v Data insufficient
3.
= HeAT
I and II together are sufficient
4.
1 #r 1 waE #)
Q.98 comprehension/ FF=T
" Question ID : 42483799
A family has the following people and their relationships are mentioned. Status : Not Answered
Read the data carefully and answer the questions that follow :- Chosen Obtion : -
‘A’ is "B's sister P :
'C’is 'D’s brother Marks :0.00

'E' is 'F's father

‘G’ is "H's mother

'F'is "D's sister

YC'is 'G's son

‘B’ is 'C's daughter

*C' is married to ')

s TRER & wewdl A 39F Poaal &1 sew FremaER
FEaTsAt w e § o i wea & Ieaw & -
‘v @ Y a5 B

o 2 FT o B

& ow w1 far &

St omw fr AT

o Ay & 3ge

E i i

& Fr & E

o a3 g

How is 'B' related to 'E’ ?
OE wudy a4 g7
Downloaded from - www.exammix.com
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Ans Grandson
Ko
qrar

Grand daughter
2.
LI

x s5on
3.
=T

Daughter

X4ﬁ

:-Railway & SSC Question Papers

Q.99 Comprehension/ TR

Read the data carefully and answer the guestions that follow :-
‘A’ is 'B's sister

‘C"is 'D's brother

‘E'is 'F's father

'G"is 'H's mother

‘F'is 'D's sister

'C'is 'G's son

‘B’ is 'C's daughter

'Cis married to )’

% oiER ¥ weedl A 39% fodl &1 seew R §
gt Ft eae # ¢ A e F seav E -

‘o @Y A T B

o @ T F

& o @ R #

Sroww At 2y

‘o 3 £ T 2

o FToAEr

il i |

o #r ot o # gF

How many female members are there in the family ?

o # frast afger we=g &2
Ans X1- 5
K26

« Minimum 5
3.
FAdA 5

Maximum &
4

. wrEaw 6

A family has the following people and their relationships are mentioned.

Question ID
Status

Chosen Option
Marks

:424837100

:Not Answered

:0.00

https

Q.10

Downloaded from - www.exammix.com

Question ID :
Status :

Chosen Option :
Marks :

42483798

Not Answered

0.00
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Comprehension/ AT

A family has the following people and their relationships are mentioned.
Read the data carefully and answer the questions that follow :-
‘A" is 'B's sister

*C"is 'D’'s brother

‘E'is 'F's father

'G"is "H’s mother

'Fis "D's sister

'C'is'G's son

‘B is 'C's daughter

'C"is married to 'Y

v ofER ¥ el AR 3aE foat &1 seaw FemEw §
et Ft eaw & o€ A weet & Ieaw € -

w Y Y aga B

r @ FToaE g

& o F =T d

o ww S A #

‘o @ & Tg4 B

r | F:7 oA g

e dr 24

i & e # s

How is 'D’ related to 'B" ?

@@ FrEy T

Ans x Paternal aunt
1.
G111
Paternal uncle
~ 2
=TT
x Brother
3.
1y
Cannot be determined
s

7" i et R o e
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